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RATIONAL NUMBERS

1. Find ten rational numbers between

—2 dl
= and <.

[ o Watch Video Solution


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_5vMM2n3uXa3X

2. Find five rational numbers between. (i)

4 . =3 5 1 1
3 and = (ii) 5 and 3 (iii) 1 and 3

o Watch Video Solution

3. Write five rational numbers greater than 2.

o Watch Video Solution



https://dl.doubtnut.com/l/_5vMM2n3uXa3X
https://dl.doubtnut.com/l/_XnBCpzDZwWmD
https://dl.doubtnut.com/l/_LZ8tKl4XvUh3

4. Find ten rational numbers between

3 3
5 and

o Watch Video Solution

5. Represent these numbers on the number

, —d
line. (i) — (||) &

o Watch Video Solution



https://dl.doubtnut.com/l/_ULLvw071CThY
https://dl.doubtnut.com/l/_Iukuvf2vVPXW

-2 -5 -9
6. Represent 1 110 11 on the number

line.

o Watch Video Solution

7. Write five rational numbers which are

smaller than 2.

o Watch Video Solution

Solved Examples


https://dl.doubtnut.com/l/_vTP3VEQGLZtS
https://dl.doubtnut.com/l/_0RA0mYAzXYAq
https://dl.doubtnut.com/l/_8jF1z03QLjWH

1.Find — X — X — X
9

-4 3 15 —14
5 7 16

© >
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= 2| o |

0

o

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_8jF1z03QLjWH

2. Write the additive inverse of the following:

21

W =7 .
079 W 135

o Watch Video Solution

: : , 13
3. Verify that ( — ) is the as x for (i) z = T
(i) & — —21
e

o Watch Video Solution

4.Find 2 x S 3
e T T T



https://dl.doubtnut.com/l/_Zi4lneDyR29T
https://dl.doubtnut.com/l/_24hPwxl40Rtx
https://dl.doubtnut.com/l/_HyycDmB3rqvm

o Watch Video Solution ‘

shind >+ (Z9) 4 (Z8) 4 (2
-ring = 11 21 22

° Watch Video Solution

6. Write any 3 rational numbers between and

0.

o Watch Video Solution



https://dl.doubtnut.com/l/_HyycDmB3rqvm
https://dl.doubtnut.com/l/_p9WJlWNW7Iir
https://dl.doubtnut.com/l/_X2OWktzZPzCS

7. Find any ten rational numbers between

-5 5%
- ad 3.

o Watch Video Solution

1 1
8. Find a rational number betweenZ and 5

o Watch Video Solution

9. Find three rational numbers between

1 dl
7 and <.

f


https://dl.doubtnut.com/l/_5DQcgJ587aPe
https://dl.doubtnut.com/l/_KyGdDjUHUh6q
https://dl.doubtnut.com/l/_CbEo5dAihitU

o Watch Video Solution

6 -7
1. Multiply — E by the reciprocal of —— 6
A 96
T 91
- 34
T 91
c 96
91
5 34
91

Answer: A


https://dl.doubtnut.com/l/_CbEo5dAihitU
https://dl.doubtnut.com/l/_uNFjs4Y5W5KK

° Watch Video Solution

2. Write.(i) The rational number that does not
have a reciprocal.(ii) The rational numbers that
are equal to their reciprocals.(iii) The rational

number that is equal to its negative.

o Watch Video Solution

3. Fill in the blanks. (i) Zero has reciprocal. (ii)

The numbers and are their own reciprocals (iii)


https://dl.doubtnut.com/l/_uNFjs4Y5W5KK
https://dl.doubtnut.com/l/_ncrOsbk9Jp4C
https://dl.doubtnut.com/l/_7tmqBRDBjEPz

The reciprocal of ( — 5) is. (iv) Reciprocal of

1

g where x # 0 is. (v) The product of two

rational numbers is always a. (vi) The

reciprocal of a positive rational number is.

° Watch Video Solution

4. Using appropriate properties find.

° Watch Video Solution



https://dl.doubtnut.com/l/_7tmqBRDBjEPz
https://dl.doubtnut.com/l/_4gid4jtv2VL2
https://dl.doubtnut.com/l/_otaJFQ246LP0

5. Name the property under multiplication

used in each of the following.

4 _
(i) — x1=1x —4

5 5

13 —2 —2 —13
i X = X

17 7 7 17
. —19 29
(i) — X —— =1

29 —19

o Watch Video Solution

6. Find the multiplicative inverse of the

following.
(i) —13
—13

() =9~


https://dl.doubtnut.com/l/_otaJFQ246LP0
https://dl.doubtnut.com/l/_4husefyPmaZK

8 7

1 — 2
W=
(vi) —1

° Watch Video Solution

7. Tell what property allows you to compute

1 4 1 4
§>< <6>< g)as(§ ><6) ><§.

o Watch Video Solution



https://dl.doubtnut.com/l/_4husefyPmaZK
https://dl.doubtnut.com/l/_xh6s1LRAgR25

11

8. Verify that ( — z) = « for (i) z = 5 (ii)
13
T

o Watch Video Solution

9. Write the additive inverse of each of the

Eollows 2. -9 -6 2
ollowing. (i) g(u) 'y (iii) - (iv) 9 (v)
19

—6

o Watch Video Solution



https://dl.doubtnut.com/l/_bfgOdgCFCloK
https://dl.doubtnut.com/l/_LVaCvKoUIb6x

10. Is 0.3 the multiplicative inverse of 3— ?

3
Why or why not?
o Watch Video Solution
8 o 1
1. Is 9 the multiplicative inverse of —1§?

Why or Why Not?

o Watch Video Solution



https://dl.doubtnut.com/l/_g3jPuoO0XKbV
https://dl.doubtnut.com/l/_dy0ivm8bmT7s

